Aeh| 2024 FENEEREDEFRIRAR B B 98 X8 |[EF
254 BRE IR 3G BISAEEZI | 12 1 54 |R) &E:EE
R E R ezl I S ,;2,,‘;*2,;6 km/h
T E A M|1]2]3]4a]s]e]7]s]9]10]11]12]13]1a]15]rR]H]E xmrr:zj%;#“f
SRR |0|2]0]0 2131 |z Famul-rs
xirﬁz 0l0]o olz[i]  ET*
(¥ £ .FE 18 : K# 28 4 38 (ke # .
™1 2 3 4 5 6 7 8 9|xmedr|tM1 2 3 4 5 6 7 8 9|fRam:£E
ﬁ&(sx )(5) <z><|><+><b><a><7>;€z;ﬂ;%“ @@ MM G)B)@)]B5E & " km/
AIF N REEBARSE| é_%%$%f&aﬁg WEELDT 2
Alaedmsnune|™wm Bleggsnn s+l Z
(&) (&) (B) (&) (B) (&) (&) (&) (%) @ (R) (B) (&) (B) (&) (£) (B) (k) (£)
| El& g Fal R Al ELLE
o B ”3'7"’ "’7 S>Tawy  |LES4E @G 25w £ km/h
2.BR F-2 -2 = mK 2.ES- EDF,'" DM @D 33w [ = =
3 BB s YL | LB S SK
l_)%_')3:% %
# 826177
g 177 EW -0 R masn |2ESR 5,{% DL B66FT
| Bl 9}'%7‘ A > Tom) |bo §%467‘%xv-8 A& dn L& T, 7(223) )
2 BR5 [ BE 5 8 e BED 80 = 3 3.BR b Gunm e
L%E=> %@ 7B Zns > (lzrﬁ == Bot | BES S ) = 3o
3. &g :’?iuouFB@ [\ 8. B s B i1 Tl B San
4 gxﬁ;w? ® 5 B %‘?si“'clé LBE@ 15 841k 2y
19%95(2&) 63> @ ‘7°§®~8§|T 2 ber 23w EEREE |5 gg‘r'cﬁ%l ’;\16 o b 7?5';2?
L& |23 L?%}%‘%g'alg-') >0 S6) >3t L% = SK 23
5 Bo W4 o4tE o3| B b BD S e — 3ur
& B 30X @QEA 210 g&'ﬂﬁ d %D]m CCDI;S’; f?%g( ?me = SK
o0k Pitihss [leBS ,%ch 66 >5(2) &
PER b R 08 |2L.BRS Fms w7 3ur| B
T (B5R) Em 3 BE 506D @ 3w S
58K | DL — bacwr 130 4 %5@;@“'55 > >3t &
;B8 By fogo R | & B
L& > Lo =3 230 3877 &
TER 5 Dk H b lu)%psm'o'vs & 60 2 3aq &
L& 53x3@E A 28w 2 BRE o Mer. é%%?( ﬁcﬂrf&s %




T E A MJ1l213|4|5|6|78]9]10]11]12]113]14|15|R|HI|E
ek |lol2lololl]olo 3164
£ra&  |olololo|2]4|0 6 [10]1
84077 @ﬁ%@u LE>SZ 4 —3u @B c7-| Bk 5
036G
4 ﬁﬁi'l”;:ss K’;’ES—:C% c’?rﬁz FB%" 5°%%h6h8'/%7m 3\3/(1%)"7'_”5‘14 §®%§);jg)) Stk

LES R D5 R ot | B 55 1%.B8m T fs 45"
">§f??7\813) & D7 L& SK 2a7
5 B iran g bt S| B bEIR ERBE Ber 53 5K
L& om) = SKM@ .Mcq/%“ by B B A FIL Feaor |20 B8 6N o ehrs ahs
b E0@ T, 1225 VD3 TLE >k o LE > SK
3 R A R
7T B2 58 b 3wt Ly e = BB g TE177
&£ b §7Fes Pea 7!9%"(‘2”)-@- @m—r(s) 5)—=>3) 3)-70)
§ SRR oA LE S 58 a0@ 1280 |2 BB @50 B3,
8 BR 1 >Tamn @ 130 |7 BB DY 0 12 %%{? ' ST @ 13
o %cqhgq(m') @'cq Lo 3B wrrR) — 4 1B 4 % cx 2-6ey 2BV
L% 2%\ L& 2-33 9%7\(9'70)856#‘1 @ % b oo
'(?)%%3-%'%z-'ﬁ‘r'@m”'?é‘%@;):;ﬂ g B il 3 %7521—‘>5K1-;3 LE> 960 > 4@ 1-330
L& SK 203 23v & 5 EBors 2660 D%t =3
2B {0 53 Bnr@ ESARETY HE @B
Léﬁcﬂ F6 :> 8 (EBi}@ @ I3\ |4 %,zacvws eﬁéﬁ ,—faéﬁé —‘-77;-\(508) &
ok T R B %m'%ﬁm‘xé'% rb > Lem@| &
g%’ﬁg.}g ,%9'};13' 5 3 |6 BOE Md1D Busw@ 128 &
& 3| LEME g S
E5E77 @i T Bl > Tursar =6 |28 1|8
8. B2 s D Y (Eew) |LBEOC |33 ELE 15~120  km/h
L& 8 wss) CORNFN G & @R ;6377:\(513/1\) g M
.80 4% @ Q42 5. BDP R H L@ 4 SrRDEY) 08
LE 52 @ 33 LES Jon® —<ox 55| =9
L BE®ZR L& ;g0 @ED BJ2 33
'%%Eagsr) a>lhLe gmts Iﬁ [EltB_%J;E é%qj}:z;— () %&H
L % —>5t7®® 15\\ ng";f,ﬁhb S s #% km/h
)G)%BS 56 2_—76 23\ L& >, Taask) = b —>22 TA |3 A
LED e > E(bya & osu) L& (2 EEu0
LE 302 @ @ 13 |lwBEH D Tawn i
2 B 0 B g #




2023F

Ket| 2024 FEMEERESEZRFIRAS B B| 98 248

254 BREIE L TKIE B AES 7

AL é/zﬁ&ﬂ%& RTEA |4 53

T E A M|1|2]|3|4]|5]6 1011112 13| 14|15 R|H|E

-~
Of
(<o)

R = |0
Zrz:R |0

olN
olOo
(@)
[\).__.
el =
olo
o
xX|O
o~ W
=y B

8 RO

o . B1. 2 126 AN
3EBR AR Gese DREEw

L)%"?Sou'(

%Eﬂm
GSFL3 ,Zth-?Gé Tz

L& Fdears > SK

T AN . OKBs . @i
5 §Aﬁ C8 /3fB  BCT ~ 7°F2300]

L& > MK i

& 579

8 3r1v7

o . 1 ob
bEE D1 DRI Z4561 2 L)

"—)%'—’5/\71/ @ [

7E§(Dtﬁll8 )tB > gmr

L% 23w

r) 0
84 %%F;am %65 DT (6BR)

C? % 2E|-2 Glflils-" 4—(10)_‘73004’

B DRE

8§ K

DR [EDR | EDH | EDR (DR [ EDR [ EDRY [ EDRS [ EDRS [ EDRS | EDR | EDR [ EDHS | EDH | DK | DK | DR | DR

m 3%
b B & £18 28 (68) = 3

N
=k

7T & i1 78 osp) @ 150

Xa

8 %mcm G;s) S km/h

@K ST
T %@’ hS @ & F4 788 ' REb-CI(25T)

L& 26er 230

L?ﬁ D(Q_‘iﬁlié = MK

& AT 14:53

® km/h

D | EDR | DR | EDH | EDR [ EDH | EDR | EDR [ EDH | BB | DK | BB | DK | B | EDH | D | DK | EDH | DR (DK | BN | DK | DR | DM | R | RS [ EEOHY | B | W | R

HH | EH | B4 | BR | B | B




km/h

=

km/h

T BE A MJ1|2|3[4|5|6|7]|8]|9]10|11]12|13|14|15|R|H]|E




	1
	2
	3
	4 300dpi

